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(A) CF=0 ~ ZF=0
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MOV BL, AL
SHL., AL, CL
ADD AL, BL
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(C) 19h
(D) 25h
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(A) Reset
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(A) RJ-45
(B) HDMI
(C) DVI
(D) PS/2
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(A) 15
(B) 16
(C) 31
(D) 32

16. T A F R E P F R
(A) X+1=1
(B) X - 1=0
(C) BC=CB
(D) A+A=1
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(A) IC7400% IC7486 & — 1
(B) IC7432% IC7486 & — &
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(A) 1KHz
(B) 2KHz
(C) 4KHz
(D) 8KHz
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(A) 3.5nS
(B) 7.5nS
(C) 8.0nS
(D) 9.5nS
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29.
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#include <stdio.h>
#include <stdlib.h>

int main () {
printf ("$£f", add(P));
return O0;

#define P = 3.14159
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#define P is 3.14159

—~

#define P 3.14159;

#define P 3.14159

~
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#define add(var)=( var+100

#define add(P) is ( var+100

#define add(P)=( P+100 ) ;

#define add(var) ( var+100
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(A) long < double < char < short
(B) short < char < long < double
(C) short < char < double < long
(D) char < short <long < double
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#include <iostream>
using namespace std;
int main () {

1£f(X%2==0)
cout<<"X i B #"<<endl;
return 0;

}

(A)float a=6, X=a*2;
(B)char a=6, X=a+'0"';
(C)int a=5, X=a+2;
(D)float a=6, X=int (a);
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1 #include <iostream>
2 using namespace std;
3 int main () {
4 int a=15;
5
6 cout<<a<<endl;
7 return 0;
8 }
(A)++a+=8;
(B)a=((a-7)<<1)+7;

(Cla=a+++7;

(D)a=

((a*x=7)>>2);
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(A)2
(B)4
(C)6
(D)8

#include <iostream>
using namespace std;
int main () {
int a=11, b=5;
int ¢c=( a | b )
cout<<c<<endl;
return 0;
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1 #include <iostream>

2 using namespace std;
3 int main () {

4 int a=0;

5

o cout<<a<<endl;

yi return O0;

8 }

(A)a=(a>100)2100:a;
(B)if{a>100} a=100;

(C)do{a++;} while (a<100)

(D)for (int 1=0,i<100,1i++) a++;

35. 7 M AR F P 2 EHE B ﬁ_#ﬁ £ switch(variable) eI
T 7] i Jﬁ Hvariable® 3 g2 # * 7
(A)char
(B)float
(C)int
(D)short

36. 7 B C++3%F % #2342 L 5lint array[9][6]; % array[3][2]
%= *(*array+n) > R ¥ #&ni @ ?
(A)1
(B)10
(C)20
(D)30

1 #include <iostream>
2 using namespace std;
3 int main () {
4 int a[5]={10,20,30,40,50};
5 int *p;
6 p=&all]l+2;
7 cout<<* (++p)<<endl;
8 return O0;
9 }

(A)22

(B)32

(C)40

(D)50
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1 #include <iostream>

2 using namespace std;
3 int f£(int *n) {
4 int g=*n-2;
5 if (*n==1)
o return 1;
yi else
8 return *n*f (&q);
9 }
10 int main () {
11 int a=5;
12 cout<<f (&a)<<endl;
13 return 0;
14 }
(A)5
(B)15
(C)20
(D)25
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1 #include <iostream>

2 using namespace std;
3 void func(int
4 a=&b; b=20;c=30;
S }
o int main () {
7 int a=1,b=2,c=3;
8 func (&a, b, c);
9 cout<<at+b+c<<endl;
10 return 0;
11 }
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(B)23
(C)24
(D)25
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1 #include <iostream>
2 using namespace std;
3 int A=30;
4 class oneclass/{
5 public:
6 int A;
7 int passvar (int a);
8 oneclass () ;
9 oneclass (int a);
10 };
11 oneclass::oneclass () {A=0;}
12 oneclass::oneclass(int a) {A=a;}
13 int oneclass::passvar(int a){return a+A+1;}
14 int passvar(int a) {return a+A+100;}
15 int main () {
16 oneclass oneobject (200);
17 cout<<oneobject.passvar (10)<<endl;
18 return 0;
19 }
(A)11
(B)140
(C)201
(D)211
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